BULLIT 60

FAST FLYING WING

Manufactured b\

679 05 HABRUVKA 100 - CZECH REPUBLIC
www.topmodelcz.com
e-mail:info@topmodelcz.cz

Order N°: 02041 Radio system you'll need :

. elevon - 2 servos
. motor

6,5-10 ccm

= : Mega ACn 22/30/3E

5% 1,6 - 1,9kg m 5S Lixx ~4Ah
T BELL 540
N\ J




Part # Part name Material/dimensions Loose In bag
building instruction 01
1-1 motor mount set fiberglass 01
1-1E screw M3x20 04
1-1F washer steel @9 04
1-1G nut nut M3 04
2 wing balsa assembly 01
2A hatch balsa 1,5mm 01
2AA hatch support balsa 6mm 02
2AB hatch latch 190124827 01
2AC support plywood 3x15x77mm 01
2D receiver cover plastic 1x45x48mm 01
2-1 elevon balsa 02
2-3 battery tray plywood 3x40x150mm 01
2-4 elevon servo fixing polyurethan 04
2-41 servo cover ABS plastic 02
2-5 elevon pushrod steel ¢1,8mm 02
2-6 clevis MPJ] 2140, nut M2 (steel) 02
2-8 elevon horn carbon plate 1,5 +0,5mm 02+02
4 fin balsa assembly 02
4-1 fin joiner fiberglass 1,5x10x43 02
7 stickers 04
9-2 motor servo mount polyurethan 02
steel #1,2x320mm 01
9-21 throttle linkage sheath #3/2x215mm 01
clevis + nut M2 stell 01+01+01
11 pinned hinge MPJ 2502 06
RECOMMENDED EQUIPMENT - ELECTRIC VERSION
Pieces Ttem No. www.topmodelcz.com
transmitter 4 channel
reciever 4 channel
Servo Savox SC-0254MG 2 for ailerons 15V2304
motor Mega ACn 22/30/3E 1 20223003E
controller FOXY G2 R-80SB 1 1RC31030
spinner Profi 57 1 8KU10830
propeller FOXY Pro 9x8" 1 723458
battery 5S ~4000mAh 1 2VRPOS0SP
RECOMMENDED EQUIPMENT - GLOW VERSION
Pieces Ttem No. www.topmodelcz.com
transmitter 4 channel
reciever 4 channel
Servo Savox SC-0254MG 2 for ailerons 15V2304
HS-322 HD 1 for throttle 1HI3070
engine 6,5 - 10 ccm 1
tank ~300ml 1
spinner Profi 57 1 8KU10830
propeller according to the used engine 1
battery 4,8V ~2000mAh 1




E—]

CG 280 - 290 mm




0410314

311
T

E=—t———r

Ja|josuoo ||

==

—

CG 280 - 280 mm

mBn . 5’1 I

€-C




